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Lesson 3 Livelihoods Indicators
Exercises
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Exercise 1
	Let’s consider the livelihood framework. Can you identify two indicators which could be used to understand the vulnerability context?

[image: image2]
1. Drought proneness
2. High levels of stunting
3. High levels of HIV in the area


	Tick the correct options (more than one)
· 1
· 2

· 3




Exercise 2

	Can you identify two indicators which indicate livelihood resources or assets?

[image: image3]
1. Education
2. Membership of a large extended family
3. Large families with many children


	Tick the correct options (more than one)
· 1

· 2

· 3




Exercise 3

	Can you identify two indicators which could be used to understand policies, institutions and processes that affect livelihood strategies?
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1. Land holding size
2. Land tenure system
3. Subsidies on main staple crop


	Tick the correct options (more than one)
· 1

· 2

· 3




Exercise 4
	Can you identify two indicators which indicate livelihood sustainable strategies?
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1. Petty trading
2. Agro-pastoralism
3. Selling off key livestock


	Tick the correct options (more than one)
· 1

· 2

· 3




Exercise 5

	Can you identify two indicators which could be used to understand livelihood outcomes?
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1. Nutritional status
2. Prevalence of HIV
3. Crude mortality rates (CMR)


	Tick the correct options (more than one)
· 1

· 2

· 3




Exercise 6
	We considered several examples about the selection livelihood indicators. 

Please, consider the following one: Hargeisa urban economy
There are nine camps or poor resettlement areas spread throughout the city. This is where poor households are concentrated, including recent returnees from the Ethiopian camps and migrants from the south of Somalia and ethnic Somali and Oromo from Ethiopia. Households with less than $2.25 per day are generally regarded as very poor. This includes the destitute and lowest level of economically active households. Average household size is 7-8. Dependency ratio is a key determinant of standard of living. Families at the lower end of the income scale often send some of their children to live with relatives. 

Members of economically active, very poor and poor households are generally involved in small scale petty trade, casual unskilled daily labour and low level employment. Women are usually engaged in small scale petty trade or casual work (cleaning, sweeping, washing clothes for better off households). Men are usually engaged in casual, unskilled labour (construction sector or market portering), or low paying self-employment (donkey carts and wheelbarrows) or low paying employment (shop assistants and waiters). Children only work in poorest households often where an adult is lacking, e.g. shoe shining for boys or domestic/cleaning work for girls. Gifts are a common source of food and cash for very poor and poor households – usually from relatives or neighbours. 

The vast majority of calories consumed by these households come from cereals, sugar and oil. The main non-food items that are purchased daily are water, charcoal and kerosene. Spending on schooling and health care is minimal. Very poor households spend about 65-70% of income on food. Two sources of food are the market and gifts. 

Households are vulnerable to a number of potential shocks. Civil conflict has been a problem in the past but political developments mean that the current situation is far more stable in the short and medium term. Exchange rate depreciation leading to a rise in costs of imported food and non-food items is a big problem for the poor if wages and profits do not keep pace with changes. Other risk factors include restrictions on trade with Ethiopia and other countries, e.g. livestock ban, restriction on, or a reduction in, remittances from abroad (due to increased financial regulation), decline in the construction sector (due to decline in remittances or periodic bans imposed by government). At household level, illness or death of (or divorce from) the main income earner can result in a major drop in standard of living. 

Main indicators for livelihood system:

·  Price of key food items, e.g. cereal, sugar and oil

·  Wage rate for unskilled labour 

·  Availability of work (number of days of casual work per week or month – this is difficult to monitor)

·  Income from petty trade (also difficult to monitor)

·  Terms of trade between wage rate/income and cost of key foods

·  ‘Health’ of the construction sector

·  Remittances (significant resource in Somaliland)

·  Fluctuations of exchange rate and restrictions on trade

·  Levels of stunting and under-five mortality  

Which of the following sentences better reflects the main way in which livelihood indicators of urban livelihood groups differ from those of rural populations?
1. Urban populations have a more diverse set of livelihood strategies than rural populations.

2. Urban populations are more market dependent than rural populations. 
3. Urban populations are less vulnerable to the effects of drought. 



	Tick the correct option

· 1

· 2

· 3




Solutions
Exercise 1

	Options
	Correct answer
	Comment

	1, 3

	X
	Correct. 


	2,3

	
	Incorrect. High levels of stunting is a livelihood outcome and not a vulnerability factor. HIV can undermine capacity to work and ability to sustain livelihoods. 

	1,2

	
	Incorrect. (See comment above) 


Exercise 2
	Options
	Correct answer
	Comment

	1, 3


	
	Incorrect. Education is a human asset that can enhance livelihoods. Being member of a large extended family is likely to lead to greater livelihood opportunities and support in times of hardship. Instead, if the family has a large dependency ratio, i.e. few adults to support the family, then livelihoods will be stretched.

	2,3


	
	Incorrect (see comment above).

	1, 2


	X
	Correct. 


Exercise 3
	Options
	Correct answer
	Comment

	1, 3


	
	Incorrect. Land tenure system will determine peoples access and capacity to exploit land. Land holding is a physical asset.



	2, 3


	X
	Correct. 

	1,2


	
	Incorrect. (See comment above).



Exercise 4
	Options
	Correct answer
	Comment

	1, 3


	
	Incorrect. Although petty trading is likely to be only once component of a livelihood, selling off key livestock is likely to be non-sustainable and only carried out in situations of stress.

	2, 3


	
	Incorrect (see comment above). 

	1, 2


	X
	Correct. 


Exercise 5
	Options
	Correct answer
	Comment

	1, 3


	X
	Correct.

	2, 3


	
	Incorrect. Nutrition is frequently a direct outcome of livelihood success. Mortality rates tend to be highest in areas where populations are poor and livelihoods are constrained, while HIV infection cuts across all income and livelihood classes.

	1, 2


	
	Incorrect (see comment above).


Exercise 6
	Options
	Correct answer
	Comment

	1
	
	Sorry, this is incorrect.

	2

	X
	Correct. Most rural populations have a degree of self-sufficiency through production of crops and livestock.

	3

	
	This is not completely correct. Although drought will not directly impact urban population livelihood strategies, the impact of drought on food prices may cause hardship for urban populations – especially the poor.
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